SS

1adepy + €6 = Bue| enxa v

Ww g7+ = ayguIWesan Jap zuesa|oL
1aq yaieysa J+1+@= 3UQH a1eqzinu 3jeWIXEN
SH-D\— T+@= ayoH a1eqzinu ajewIuIN
ev+d+1+8= ayoyiwesan
J193depy + €5 23471
2s 0s or 8'vs 0s L6 ooL [23441]
[wuw] [wuw]
[wuw] €0 L [ww] [ww] [wuw]
m EEEREL] Y3ISSIN &Y ev 2
3002-1DILAY J -HJ¥Nna -HJ¥Na 3HOH 3HOH ONNTIALSNIF dAL

3002 1DILAY

[ww)
] ‘e [ww]

m ¥3ISsan 1

4 -HJuna 3HOH "ONIN dAL

G2L4HX

0804HX

3002 1MLV

LS - 4HX -G904HX

dHX

000°2€ 143 seL sel

000°SL EE o8 o8

[wuw]
IN] [wuw] e
NOISSIIdNON a ¥3ISS3IN
1SYINN3N 3HOH -HJuNna dAL

131ds13g

asgH

T13aNIds

Jlividssnd

ASSMNANINIHISYIN FHISINIIDAH 1d31Z141143Z




